Adding mixed numbers
Add the whole 4
numbers and then 2§+3§
add the fraction

Year 11 foundation topic 18

Fractions, indices and
standard form

Standard form Standard form is a way of expressing very large or very small num-

bers. Standard form must be written in the form a x 10° and must be between 1 and

10. Example: 0.000000541 = 5.41 x 10”7

2 4 123000000 = 1.23 x 10°
=5+ —+- —
parts 3 5 Subtracting mixed numbers
Find the LCM of c
. Either use the same method as adding mixed num- Laws of indices
the denominators to .
bers or convert both fractions to top heavy.

find a common de- — 4= . = 0

1 9 5= — mn -t Y n—=—m
nominator. 0 12 5 7% Y = 1 * X i 5 = X
U 3 1 f _ = — + — = B_E Change to improper fractions :

se equivalent frac TART: = 7 -n il ° (xn)m — xtm

tions to change each 23 7 _1ox2 21 senom *X =T

X = iy —I ange to common denominator x n
fraction to the common == =17¢ :;SX iy Bl mi
denominator 5 4 7 = I—HI Subtract the numerators ] xn . xTn — x?1+m L x m = LY, x
Then just add the 2 5 +3 g =6 E o % :4i Change to mixed numbers

Know how to use your calculator!
’ 11 4 33 1 A_ny careers that lnY()lves_money’ rates or very Check you know how to type in calculations in YOUR calculator and then read the answer.
1% X 3= o X % =35 4@ blg/small numbers 1nclud1ng sales, transport, Always check you have written your answer how the question asks for—in standard form or

engineering, science, cooking, farming, ma-
chinery, astronomy, travel, design...

as an ordinary number, as a top heavy fraction or mixed number.

Dividing mixed numbers

1. Convert all mixed numbers to improper fractions.

Iy

s TR B B

2. Change = to x :Li

3. Flip the divisor. 3 1]
4, Multiply. 35
5. Simplify. 51

Multiply and dividing humbers in standard form

Adding and subtracting numbers in standard form

(3.5x2)x 10°=
7 x10°

35x10°'x2x10'=

(3 x 108) + (2 x 10°)
Firstly convert both numbers to have the same power of 10

(3 x 10%) + (0.02 x 108)

Now add together the whole numbers and keep the power of
10 the same

(4.8 - 2)

48x10 =

24 x10°

= 3.02 x 108

2x10=
X 10" =

Do the same for subtraction but take away instead




